==
N & o & AF & H A A
2018E & =0l & L BHSI A ZOH el = Xt
D ZoHel =X
D OOl =2XEA
DR =XNEE (ctel:&2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
ol = X| 1t 148,850,579 133,666,515 15,184,064
= 110,547,476
J| 4,000,000
< 33,053,103
£ 1,250,000
el =XIS& 148,807,013 133,623,705 15,183,308
= 110,547,476
J| 4,000,000
< 33,009,537
£ 1,250,000
ZoHel XS 58,087,888 43,349,307 14,738,581
= 42,067,368
J| 4,000,000
< 10,820,520
£ 1,200,000
ZFHeAZE SH X2 39,025,828 33,022,000 6,003,828
= 34,579,847
< 4,445,981
308 XX EHH SOl A 39,025,828 33,022,000 6,003,828
= 34,579,847
< 4,445,981
01 AXSHBELS 39,025,828 33,022,000 6,003,828
O&eldz XA 39,025,828
= 34,579,847
< 4,445,981
= (Ilx) X2 3,822,336 3,641,025 181,311
= 3,386,880
= 435,456
308 XXM S0 A 3,822,336 3,641,025 181,311
= 3,386,880
< 435,456
01 AXNSHHBLAEES 3,822,336 3,641,025 181,311
OFM=== X2 (J=x) 3,822,336
= 3,386,880
< 435,456
Fo=g(Ha? S) Xa 3,005,539 2,936,430 69, 109
= 2,663,136
< 342,403
308 XXIEHH SOl A 3,005,539 2,936,430 69,109
= 2,663,136
< 342,403
01 IXNHHBANEES 3,005,539 2,936,430 69, 109
OFM=Z (XA S) X2 3,005,539
= 2,663,136
< 342,403
Zofelozdl K& 1,326,120 1,148,100 178,020




AN HOHUSX 2t

g Foje sxsd

Sl FOHY =SXBA CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
= 7,233,600
& 92,520
308 XHXIEH SO0l A 1,326,120 1,148,100 178,020
2 1,233,600
&< 92,520
01 AIKSHHEMNEX= 1,326,120 1,148,100 178,020
OHOMele 2l X 1,326,120
= 1,233,600
& 92,520
MASA0Q Nty & A AHH X & 24,750 23,413 1,337
= 24,750
308 MXISHMSOIA 24,750 23,413 1,337
= 24,750
01 IXHHIMNEXS 24,750 23,413 1,337
ONASEEHOR &Syl & 2 AH X & 24,750
= 24,750
ZHOHQl MESHY K& 1,738,806 1,751,331 N 12,525
308 XX SHHSOIH 1,738,806 1,751,331 N 12,525
01 AIXSHMENEXZ 1,738,806 1,751,331 N 12,525
OOl MEOFH ALY 1,738,806
0o Es A& 539,608 333,808 205,800
201 LBt 9H]| 6,300 9,900 A 3,600
01 AP 22| H| 6,300 9,900 A 3,600
OROjQ QIR U IAJNM ZE T 23 (o
APE2E 10%) 6,300
203 R F & 2,708 2,708 0
03 AIZH =X 25 X H| 2,708 2,708 0
OXHQ=EX SAAL =X (MHAEZ 5%) 2,708
307 QI2t0| & 454,000 306,200 147,800
11T A EXAIEEX 454,000 306,200 147,800
OXFOel oAl JNA A 70,000
OHOMQ HAEIEY A L 23 ALY 110,000
Q&I s AL 55,000
OFMe sg=sHs=Al 38,000
OXNOHQUSH THEAFS (Ol AHEZE 10%) 63,000
OFZZMHXNEAEt0IESnEH3 100,000
OsdZMedE=2UsHAEIEMH (MAEZ 10
%) 18,000
308 XHXIEHSOIA 10,000 0 10,000
01 AIXSHMEAMNEX= 10,000 0 10,000
OMAAl HOHQ 2SMHE L E4£H=E AAA
& 10,000




2N
X ZH -
L= B

el

ZOf el =Xl ot
ol sXsd
e sxsa

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
403 XXM S X201 66,600 0 66,600
01 AXISMA2E = 66,600 0 66,600

OsHAIZAEMeIHES SAAXNE JsES 6,600
OSEZMHAURR23 HAIXE JIsEH 30,000
OFEXNZEMLEs 423 Js2S 15,000
OZSHHMR23 B2 3 JIsE 15,000

ol s AL 66,000 65,800 200
307 21201 A 66,000 65,800 200
1A SXAIEE X 66,000 65,800 200

OOl s A 66,000
HeZoHel wsXA 120,391 131,700 A 11,309
= 84,085
< 36,306
307 gl2tol & 120,391 131,700 A 11,309
= 84,085
< 36,306
1 AMISIAIEE XS 120,391 45,000 75,391
OWLZML ALY 120,391
= 84,085
< 36,306

OE M WS XA (XHA) 24,570 0 24,570
307 eI+l & 24,570 0 24,570
11 AISISAAISEE = 24,570 0 24,570

OWAZMHA WAL (XHA) (Ol & 2 10%) 24,570

ZOHQ CIRAAMEHH 29 193,000 180,000 13,000
307 21201 A 193,000 180,000 13,000
10 ALSISXAIEEE2EHEX 193,000 180,000 13,000

Ol agddH2d 193,000
ZOUA=XNZ20F HHEA 2H 10,800 10,800 0
201 Let24d] 10,800 10,800 0
01 At 22l 10,800 10,800 0
QXA =XEZ0F HHEA 2 (MAHE2Z 10%) 10,800

X Zohel AASSIIB SN 190, 140 95,000 95,140
= 95,070
< 95,070

307 glz2tol & 190,140 95,000 95,140
= 95,070
= 95,070

11 ASI S AAISEE = 190, 140 95,000 95,140
OX<S Zoe 23712 2E X 190, 140
= 95,070




2N

ZOf el =Xl ot

Hu: ool 2N
Sl FOHY =SXBA (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| = 95,070
MHeEga HE 8,000,000 0 8,000,000
J| 4,000,000
== 2,800,000
£ 1,200,000
403 XX SHHS K20 & 8,000,000 0 8,000,000
J| 4,000,000
= 2,800,000
£ 1,200,000
02 BI2SHUSXN2EAEAISHI 8,000,000 0 8,000,000
OFEET HEA A 8,000,000
J| 4,000,000
= 2,800,000
£ 1,200,000
ZHOf QI KHE X 2 47,824,407 37,188,882 10,635,525
= 36,446,428
& 11,327,979
£ 50,000
O ATHEANE 2 1,531,094 1,290,079 241,015
& 1,481,094
£ 50,000
307 gizto| A 72,500 68,500 4,000
= 22,500
£ 50,000
11T AISIEXAIEEX 72,500 68,500 4,000
E4stn, ZOHQIEATHEALE HAHAY NS 13,500
O3 YUY 2 XA 50,000
£ 50,000
OXATHE A2 (0lAE2Z 10%) 9,000
308 MXISHMSOIA 1,458,594 1,186,579 272,015
01 IXHHIMNEEXTZ 1,458,594 1,186,579 272,015
OHMAXMNATHEAIE 2SS XA 1,436,274
OXMAXMNATNEAIE SSHMHUES S 22,320
ZOHQUXATHEANE JDsES 750,000 1,500,000 A 750,000
= 500,000
= 250,000
403 XX SHS K20 & 750,000 1,500,000 A 750,000
= 500,000
= 250,000
01 AXHHE2E = 750,000 1,500,000 A 750,000
OXMAXMNLTHEAIE JIsEZ 750,000
= 500,000
= 250,000
ZHOHQI M AFE WO Al A KR (2) 161,470 161,470 0
= 64,588




RO OI= X B
DOl =NEA
EOfel KRR

SA - BB B () - MM - BES Ol &t o San HmEET
< 96,882
307 glz2tol & 161,470 161,470 0
= 64,588
< 96,882
10 ALSISXAIEEE 22X 161,470 161,470 0
OZOMAMAST BHIHAIE 299 161,470
= 64,588
< 96,882
ZOHQIMASEOHAIE XA (%) 13,000 13,000 0
307 21201 A 13,000 13,000 0
11T MISRAMSER 13,000 13,000 0
OSTZMHUMAMES HIIEMWNE ¥ B 13,000
ZoHe A X 323,000 343,000 220,000
307 21201 A 323,000 323,000 0
11T AL SXAEE = 323,000 323,000 0
ESTO0NQ THMEHE X2 (AHH) 315,000
OZOHQ X&Ma Azt 8,000
STSHMHA NS MBHEH X 355,760 348,000 7,760
= 245,352
< 110,408
308 XXIEHHSOIA 355,760 348,000 7,760
= 245,352
< 110,408
01 AXHHILEES 355,760 348,000 7,760
OZSSZMHAXNSHHEHEH XA 355,760
= 245,352
S 110,408
SSTMHL s & FIt NE 2,643,180 1,830,000 813,180
308 MtXIEHMSOIH 2,643,180 1,830,000 813,180
01 HXNHHNBHELS 2,611,180 1,800,000 811,180
O3 8s2x & FIHAZ 2,611,180
10 B2 SUHUS3AHAE A 32,000 30,000 2,000
O 22X N (FIH) HXEIRA
23 32,000
o EsSXNESH XA 30,152,043 21,195,760 8,956,283
= 26,717,000
< 3,435,043
308 XX EHHSOIA 30,152,043 21,195,760 8,956,283
= 26,717,000
< 3,435,043
01 HIXNHHBNEES 30,152,043 21,195,760 8,956,283
OFoel sXNF=H XA 30,152,043
= 26,717,000




2N
X ZH -
L= B

el

=N IE
Zojel =NEA
Zojel XEK

= — = s
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
| = 3,435,043
2SEX S0 35,683 35,683 0
= 31,618
< 4,065
308 XXM SO0IH 35,683 35,683 0
= 31,618
& 4,065
01 HAHHBdEES 35,683 35,683 0
OSEx INt=N 35,683
= 31,618
== 4,065
2L SS=AQ WS 30,240 26,400 3,840
307 glztol & 30,240 26,400 3,840
M AMSIMNSEER 30,240 26,400 3,840
OgEHMe ss=H2 WEAHA 30,240
LEZHY F4ENE 33,406 102,384 68,978
= 29,600
S 3,806
308 XXM S0l ™ 33,406 102,384 68,978
2 29,600
= 3,806
01 X SHHBLEXES 33,406 102,384 68,978
OgEHMe R4 33,406
= 29,600
= 3,806
NI AXNAMME 2 XA 488,000 470,000 18,000
= 244,000
< 244,000
308 XXM SO0I™ 488,000 470,000 18,000
= 244,000
[ 244,000
10 I/ 2S00HetE & S 2 & A I 488,000 470,000 18,000
ONSALLHHAXNALNH 2 A& 488,000
= 244,000
= 244,000
ZOojor s =X 640,503 566,983 73,520
= 448,352
= 192,151
307 glztol & 640,503 566,983 73,520
= 448,352
= 192,151
M AMSIMNSER 640,503 566,983 73,520
OHOfot JH=E AdFXH 640,503
= 448,352
S 192,151

(o))




AN HOHUSX 2t

g Foje sxsd

el Zoyol XX (el @2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
HETHEAMH A HIRHAH X 2,971,103 3,044,037 AT2,934
= 2,632,623
< 338,480
308 XXX S0 A 2,971,103 3,044,037 AT2,934
= 2,632,623
< 338,480
01 AXSHBLEELS 2,971,103 3,044,037 AT2,934
OggMaulA ™ XA 2,971,103
= 2,632,623
< 338,480
AHLERA bt=Hd K& 35,011 94,049 A 59,038
= 31,022
< 3,989
308 XXM S0l A 35,011 94,049 A 59,038
= 31,022
< 3,989
01 IXNHHBANEES 35,011 94,049 A 59,038
OAHLERH 2™ XA 35,011
= 31,022
< 3,989
ORI E X & 235,000 155,000 80,000
307 21201 A 235,000 145,000 90,000
11T M3 SRASEEX 235,000 145,000 90,000
SEHMHUNSRNINEH 2L 235,000
ZOHCIIIE X2 (Al 2) 50,400 0 50,400
308 XXX SO0 50,400 0 50,400
01 HXNHHNBHELS 50,400 0 50,400
OAl - & ZOHLIDIEXNJEEH 29 XA 50,400
EXIFuR 59,923 64,500 N4 57T
= 55,742
< 4,181
308 XXM S0 A 59,923 64,500 N4 57T
= 55,742
< 4,181
01 IXNHHBNEES 59,923 64,500 AN4,577
OFOMUAEBXI R XA 59,923
= 55,742
= 4,181
A E2E R XA 55,282 55,282 0
308 XtXIEHH SOl A 55,282 55,282 0
01 IXNHHBANEES 55,282 55,282 0
O EF =clX& 50,282
OFeIE2a7 ANMESI| X X 5,000




SH: BOHOI= D
HE: Zoje =SXNEA

el Zoyol XX (el @2)
- RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

Al 2FZH0H 1 OFOFAFIFZA ALY 437,108 412,888 24,220
= 349,686
& 87,422

307 2Iz2t0| A 437,108 412,888 24,220
= 349,686
o 87,422

11 A EXAIEEX 437,108 412,888 24,220
O3 & A ZZ0HQICHOFAF TIHA ALY 437,108
= 349,686
=} 87,422

ool el K (XL 1,830,419 1,356,421 473,998
= 1,408,014
= 422,405

308 XNXIGHSO0l& 1,830,419 1,356,421 473,998
= 1,408,014
= 422,405

01 HXHHBIMNEXS 1,830,419 1,356,421 473,998
OZofel 2xdxel s 1,830,419
= 1,408,014
o= 422,405

HOofol LRl K& (Lered e xiel) 3,909,224 3,348,616 560,608
= 3,007,095
=} 902,129

308 AMXISHMSOIA 3,909,224 3,348,616 560,608
= 3,007,095
= 902,129

01 AIXSHMENEXZ 3,909,224 3,348,616 560,608
OOl detsddxtel X 3,909,224
= 3,007,095
& 902,129

ZOH oI Xtel K2 (Al 2RI XHel) 630,402 549,349 81,053
=2 484,924
o=t 145,478

308 XHXIEH SOl A 630,402 549,349 81,053
2 484,924
& 145,478

01 AIXSHHENMNEX= 630,402 549,349 81,053
OO AlZ2FH LRl X 630,402
2 484,924
& 145,478

UM RQAES A BEXZALY 111,556 90, 401 21,155
= 85,812
& 25,744

308 MXISHHMSOIA 111,556 90, 401 21,155
= 85,812
< 25,744




2N

ZOf el =Xl ot

Hu: ool 2N
Sl Zojel XtE X (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 111,556 90,401 21,155
OLETMHARLAEBS At B ALY 111,556
= 85,812
< 25,744
SO NEFAXA 90,000 77,100 12,900
= 63,000
< 27,000
307 21201 A 90,000 77,100 12,900
= 63,000
< 27,000
11T MISXASEX 90,000 77,100 12,900
LI IIEFAXA 90,000
= 63,000
= 27,000
S3=d HEX&A 51,600 0 51,600
= 48,000
< 3,600
308 MtXIEHMSOIH 51,600 0 51,600
= 48,000
< 3,600
01 HXNHHNBHELS 51,600 0 51,600
OggHM S5=AXE 51,600
= 48,000
= 3,600
ESTNANSMEHEH RI2(AIZ) 200,000 0 200,000
308 XX EHSOIA 200,000 0 200,000
01 HIXNHHBNEES 200,000 0 200,000
OSSO UHSHMEME X 200,000
Zoiel AIEES 42,894,718 53,085,516 A 10,190,798
= 32,033,680
< 10,861,038
A AHF=AE 22 (%) 504,808 91,010 413,798
201 L2l 9,432 19,510 A 10,078
01 At 22l 9,432 19,510 A 10,078
OCHEMN ME2ZAR ] L AL (04
22 10%) 9,432
307 glz2+ol & 29,790 31,500 A1,710
11T MISXAS EX 29,790 31,500 A1,710
OFMANFAIE AN ME NS 14,400
OXFOAHNFAIL X2 (0lAHE2 10%) 15,390
308 XX EHSOIA 465,586 40,000 425,586
01 HIXNHHNBNEES 465,586 40,000 425,586
OFOMUNFAIE SAL EHHALTZOH 40,000




SH: BOHOI= D
HE: Zoje =SXNEA
Sl Mojel AlssE (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

OFMAHFAE EAL QLAY 22 (HE2

2+g) 425,586
ZojeAEAL 29 NB (N, 29) 34,481,390 41,509,471 A7.,028,081
2 30,553, 131
= 3,928,259
308 KXI € RIS 01 & 34,481,390 41,509,471 A7.,028,081
2 30,553, 131
= 3,928,259
01 HXESHZAEES 34,481,390 41,509,471 ~7,028,081
OBOANFAL 29 X8 34,481,390
2 30,553, 131
= 3,928,259
ZojAEAE 29 NS (A2, atl) 138,274 143,698 A5,424
2 122,522
= 15,752
308 RHXI €A S 01 & 138,274 143,698 £5,424
2 122,522
= 15,752
01 AXESHEAEES 138,274 143,698 £5,424
OFMA=XAE HHLL0EE K& 138,274
2 122,522
< 15,752
ZojeNEAE 29 N (ZH) 120,000 120,000 0
2 60,000
= 60,000
307 2120l & 120,000 120,000 0
2 60,000
= 60,000
T E ST S 120,000 120,000 0
OLIHEH Wah FHQAHE AY &% - 2% 120,000
2 60,000
= 60,000
EZZ EENaY 129,600 129,600 0
308 XX € RIS 01 & 129,600 129,600 0
01 HXSHE LR 129,600 129,600 0
OFMANFAL E5HN 25T +& 129,600
ZOHQAHFAL IS 2,257,041 4,547,897 ~2,290,856
2 1,298,027
= 959,014
402 212F X201 & 310,000 0 310,000
01 BIEXHE A 2 X (RHAI &) 310,000 0 310,000
OANAFN SSHEIIE JIsL2Y 310,000
403 XHXI €+ A S X2 0| | 1,947,041 4,547,897 £2,600,856
2 1,298,027




AN HOHUSX 2t

g Foje sxsd

CHe: O AMEES (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 649,014
01 XIS A=Z2E X 1,947,041 4 547,897 A 2,600,856
OQHOMHAHFAIALE JsEZ 1,947,041
2 1,298,027
o= 649,014
o EXN2S 249 3,172,597 4 531,868 A 1,359,271
307 QI2t0| & 2,772,597 4,131,868 A 1,359,271
05 QIZtREZ 2,714,097 4,041,868 N1,327,771
OEMEXNH SH(ME, &2, A2 2,200,000
OHMU=R & SRS A A& 161,649
OFAWEHA XS 38,059
OBS#IX AN A 36,912
OO F=2AESAIE 29 181,577
OHMAU=SAI & HAA XS 95,900
11T A EXAIEEX 58,500 90,000 A 31,500
QZECtAED 2 (0l AE2 10%) 45,000
OAMZLZOHQIBHE 2H (0l AR 2 10%) 6,300
OXNHQU=EX 2 SAX A2 (0 AEZ 10%) 7,200
308 MXISHMSOIA 400,000 400,000 0
01 XHHIMNEEXTZ 400,000 400,000 0]
OAT ZHOIEXAIY X (IsZH) 400,000
HOeI X HEHSH 617,940 632,500 A 14,560
307 2Iz2t0| A 588,600 632,500 A 43,900
10 M SXNANEEHESIGHEX 539,100 580,500 A 41,400
O 4 EAME 2L (AR 10%) 262,800
OZEL QU MEQISKIAME 2H (0 AE2Z 1
0%) 276,300
11T A EXAIEEX 49,500 52,000 A 2,500
Osds0tel MATHE XK (HAHEZZ 10%) 49,500
402 SI2FXHE0| ™ 29,340 0 29,340
01 It EANSEXR (MM ) 29,340 0 29,340
OSH U MEQSKNRAAEH M2 29,340
OIS THEALE 24 202,500 225,000 A 22,500
307 2Iz2t0| & 202,500 225,000 A 22,500
10 M SXANEEHESIGHEX 202,500 225,000 A 22,500
QXIS THEAE 2 (0 AEZ2Z 10%) 202,500
M= 249 68,850 76,500 AT ,650
307 giztol A 68,850 76,500 A7 ,650
10 MM SAANEEHESIGHEX 68,850 76,500 AT ,650
QXS SH(0AEZ 10%) 68,850




AN HOHUSX 2t

g Foje sxsd

ol FOHOI AlLEE (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
HOHQIEHJAILE E = 441,634 341,500 100, 134
307 2Iz2t0| A 265,425 272,500 NT,075
02 DIZHEAAIRE E X 15,225 15,000 225
OXME g= MESH ASFHE &2 NS 15,225
10 A SAANEEHESIGHEX 187,830 190,000 A2,170
OZSLZHHQUHEHOALRAME 2F (0l AE2Z 1
0%) 187,830
11T A EXAIEEX 62,370 67,500 A5,130
OQEOALE X SUEXC 29 (0l A& 2 10%
) 62,370
403 XX SRS K20 & 176,209 69,000 107,209
01 XIS A=2E X 176,209 69,000 107,209
O23J|& HOAILE EX ALY 69,000
OO HOAIE AEHN =X A 107,209
HZOHQIAIE SALA MM 760,084 736,472 23,612
307 2Iz2to| & 205,686 220,470 N 14,784
10 M SAANEEHESIGHEX 205,686 220,470 N 14,784
OXOHQUAIE SAIA HRHA(Z)(MAEZ 10
%) 205,686
308 XX EH SO A 554,398 516,002 38,396
01 AIXSHMEMNEX= 554,398 516,002 38,396
OZOHRAAIE ZEALA ALRXME(AIZ) 554,398
HESHAL (R 2K 43,566 42,810 756
JI22Z I (Zoel=X ) 43,566 42,810 756
Jl2d (HoHel=X ) 43,566 42,810 756
201 LBt ]| 20,520 20,520 0
01 AP 22| H| 20,520 20,520 0
OXHQU=EX H2=X (0 AHEZ 10%) 20,520
202 044 20,196 19,440 756
01 2L Y| 20,196 19,440 756
QXU =EX LAP=X (U AHEZE 10%) 20,196
203 ¥ 2 =&XH| 2,850 2,850 0
04 FEASHELIFFEH| 2,850 2,850 0
OXFMHEX W ALZ=F(MHAEZ 5%) 2,850




